
CHEMISTRY

BOOKS - V PUBLICATION

HALOALKANES AND HALOARENES

Question Bank

1. Write structures of the following compounds i) 2-Chloro-3-

Methylpentane ii)1-Chloro:4 ethyl cyclohexane iii)4 -Tert-Butyl
 3-

Iodoheptane iv )1,4 -Dibromobut -2 - ene v)1-Bromo-4-sec-butyl-2-

Methyl benzene.

Watch Video Solution

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_bD6ZMpD7Ypz1


2. Why is sulphuric acid not during the reaction of alcohols with KI?

Watch Video Solution

3. Write the structures of different dihalogen derivatives of propane.

Watch Video Solution

4. Among isomeric alkanes of molecular formula , identity the

one that on photochemical chlorination yields 3 isomeric

monochlorides

Watch Video Solution

C5H12

5. Draw the structures of major monohaloproducts in each of the

following : 

https://dl.doubtnut.com/l/_IxzSA0umK2pS
https://dl.doubtnut.com/l/_wrnOcuJfHvRu
https://dl.doubtnut.com/l/_mBdcmzMeOxGt
https://dl.doubtnut.com/l/_RC9SD2aqCenN


Watch Video Solution

6. Arrange each set compounds in order of increasing boiling points.

Bromomethane, Bromoform , Chloromethane, Dibromomethane

Watch Video Solution

7. Which alkyl halide from the following pairs would you expect to

react more rapidly by ' SN2' mechanism? Explain your answer

Watch Video Solution

https://dl.doubtnut.com/l/_RC9SD2aqCenN
https://dl.doubtnut.com/l/_FRJpIoggYbCg
https://dl.doubtnut.com/l/_INeHXEX6UjBF


8. In the following pairs of halogen compounds, which compound

undergoes faster SN1 reaction?

Watch Video Solution

9. Name the following halides according to IUPAC system and classify

them as alkyI, allyl, benzyl-(primary, secondary, tertiary), vinyl or aryl-

halides: i) , ii)

, iii) ,

iv) , v)

,
 vi) ,
 vii) ,
 viii)


 ix )

,
x) ,

Watch Video Solution

(CH₃)₂CHCH(Cl)CH₃

CH₃CH₂CH(CH₃)CH(C₂H₅)Cl CH₃CH₂C(CH₃)₂CH₂I

(CH₃)₃C − CH₂CH(Br)C₆H₅ CH₃CH(CH₃)CH(Br)CH₃

CH₃C(C₂H₅)₂CH₂Br CH₃C(Cl)(C₂H₅)CH₂CH₃

CH₃CH = C(Cl)CH₂CH(CH₃)₂

CH₃CH = CHC(Br)(CH₃)₂ p − ClC₆H₄CH₂CH(CH₃)₂

https://dl.doubtnut.com/l/_QhBNGG7rqGlg
https://dl.doubtnut.com/l/_TsTcEkKIQ6Iq


10. Give the IUPAC names of the following compounds:

Watch Video Solution

CH3CH(CI)CH(Br)CH3

11. Write the structures of the following organic halogen compounds.

i. 2-Chloro-3-methylpentane
 ii.p -Bromochlorobenzene
 iii. 1-Chloro-4-

ethylclohexane
 iv. 2 -( 2 -Chlorophenyl)-1-iodooctane
 v. 2-

Bromobutane -
vi. 4 -tert-Butyl-3-iodoheptane
vii. 1-Bromo-4-sec-butyl-

2-methylbenzene
viii. 1,4 -Dibromobut -2 -ene

Watch Video Solution

12. Which one of the following has thehighest dipole moment?
 i.


ii. 
iii. CCl4`

Watch Video Solution

CH2Cl2 CHCl3

https://dl.doubtnut.com/l/_HTQ5I8ChVEze
https://dl.doubtnut.com/l/_8Eh7Bb2bUA6l
https://dl.doubtnut.com/l/_vF4liiwlDV87


13. A hydrocarbon ' C₅ H₁₀ does not react with chlorine in dark.but

gives a single monochloro compound C₅ H₉ Cl in bright sunlight.

Identify the hydrocarbon

Watch Video Solution

14. Write the isomers of the compound having for C₄H₉Br

Watch Video Solution

15. Write the equations for the prepartion of 1-iodobutane from
i) 1-

butanol ii)1-chlorobutane iii). but-1-ene

Watch Video Solution

16. What are ambident nucleophiles ? Explain with the example.

https://dl.doubtnut.com/l/_uNSDcjnoE3u0
https://dl.doubtnut.com/l/_pCweEShxRnqP
https://dl.doubtnut.com/l/_FpEo9iz08r9c
https://dl.doubtnut.com/l/_wstx4nX70fqw


Watch Video Solution

17. Which compound in each of the following pairs will react faster in

 reaction with - OH?
 i.  or 
 ii.  or 

Watch Video Solution

SN2 CH3Br CH3I (CH3)3CCl

CH3Cl

18. Predict all the alkenes that would be formed by

dehydrohalogénation of the following halides with sodium ethoxide

in ethanol and identify the major alkene:
 i. 1-Bromo-1-

methylcyclohexane
 ii. 2-Chloro-2-methylbutane
 iii. 2,2,3 -TriethyI-3-

bromopentane.

Watch Video Solution

https://dl.doubtnut.com/l/_wstx4nX70fqw
https://dl.doubtnut.com/l/_RSRd5uURgwuo
https://dl.doubtnut.com/l/_citXptAcxz2F


19. How will you bring about the following conversions?
i. Ethanol to

but-1-yne
ii. Ethane to bromo:ethene
iii. Propene to 1 -nitropropane iv.

Toluene to. benzyl alcohol v. Propene to propyne
vi. Ethanol to ethyl

fluoride
vii. Bromomethane to propanone viii. But-1-ene to but -2-ene

ix. 1 chlorobutane to n- octane x. Benzene to biphenyl.

Watch Video Solution

20. Explain why the dipole moment of chlorobenzene is lower than

that of cyclohexyl chloride?
 ii alkyl halides, though polar, are

immiscible with water?
 iii. Grignard reagents should be prepared

under anhydrous conditions?

Watch Video Solution

21. Give the uses of freon 12,DDT,carbon tetrachloride and iodoform.

W t h Vid S l ti

https://dl.doubtnut.com/l/_lrQUBN8SqSgG
https://dl.doubtnut.com/l/_1Xia4njEwD5k
https://dl.doubtnut.com/l/_AKYYxmw1wTPY


Watch Video Solution

22. Write the structure of the major organic product in each of

following reactions:
 i. ' CH2CH3CH2CL+' Nal ' acetone. / heat '
 ii. '(

CH3)3CBr+ KOH ethanoll, / heat '
 iii. ' CH3CH( Br) CH2 CH3+ NaOH'

water
 ". ' C6H5 ONa+ C2H5 Cl rarr'
vi: ' CH2 CH2 CH2 OH+ SOCl2 rarr'

vii. ' CH3 CH2 CH= CH2+ HBr' manily
viii. ' CH3 CH= C( CH3)2+ HBr rarr'

Watch Video Solution

23. Write the mechanism of the following reaction nBuBr+ KCN gives

nBuCN

Watch Video Solution

24. Arrange the compounds of each set in order of reactivity towards

SN2 displacement
 i. 2-Bromo-2-methylbutane,1-Bromopèntane, 2-

https://dl.doubtnut.com/l/_AKYYxmw1wTPY
https://dl.doubtnut.com/l/_A0R1bYoDT9Qz
https://dl.doubtnut.com/l/_6KZzsGPmTlG8
https://dl.doubtnut.com/l/_4QCVQCyOTmXa


Bromopentane
 ii. 1-Bromo-3-methylbutane, 2- Bromo-2methylbutane,

3 -Bromo-2-methylbutane
 iii. 1-Bromobutane, 1-Bromo-2,2-

dimethylpropane, 1 -Bromo-2-methylbutane, 1-Bromo-3-methylbutane.

Watch Video Solution

25. Out of C₆H₅ CH₂Cl and C₆ H₅ CHClC₆H₅ which is more easily

hydrolysed by aqueous KOH ?

Watch Video Solution

26. p-Dichlorobenzene has higher melting point than those of o- and

m -isomers Discuss.

Watch Video Solution

https://dl.doubtnut.com/l/_4QCVQCyOTmXa
https://dl.doubtnut.com/l/_bHOiVKq0TB3T
https://dl.doubtnut.com/l/_vKMTiN8uqvoi


27. How the following conversions can be carried out?
 i. Propene to

propan-1-ol

Watch Video Solution

28. The treatment of alkyl chlorides with aqueous KOH leads to the

formation of alcohols, but in the presence of alcoholic KOH, alkenes

are major products. Explain.

Watch Video Solution

29. Primary alkyl halide  (a) reacted with alcoholic  to

give compound (b). Compound
 (b) is reacted with HBr to give
 (c)

which is an isomer of (a). When (a) is reacted with sodtum metal it

gives compound (d),  which, is different from the compound

formed when n-butyl bromide is reacted with sodium. Give the

structural formula of (a) and write the equations for all the reactions.

C4H9Br KOH

C8H18

https://dl.doubtnut.com/l/_K54XGruOPZlW
https://dl.doubtnut.com/l/_JFFPDAeWmtwH
https://dl.doubtnut.com/l/_pxkSfQA3hc0s


Watch Video Solution

30. What happens when
 i. n-butyl chloride is treated with alcoholic '

KOH'
 ii. bromobenzene is treated with ' Mg' in the presence of dry

ether,
ii. chlorobenzene is subjected to hydrolysis,
iv. ethyl chloride is

treated with aqueous KOH,
v. methyl bromide is tréated with sodium

in the presence of dry ether,
vi. methyl chloride is treated with KCN?

Watch Video Solution

31. Explain the chemistry behind the formation of acid rain?

Watch Video Solution

32. Substantiate the following statements:
 i Chloroform is stored' in

dark coloured bottles filled to the neck.
 Ii Iodoform gives a

https://dl.doubtnut.com/l/_pxkSfQA3hc0s
https://dl.doubtnut.com/l/_PN0l84YTJJqc
https://dl.doubtnut.com/l/_JZiPmdl9mpNj
https://dl.doubtnut.com/l/_1Bl5kv9zZlPg


precipitate with AgNO3 on heating while chloroform doesnot.

Watch Video Solution

33. Compounds A and B are isomers with formula . On

treatment with aq. KOH, A gives a compound C which liberates ' H_2'

gas on treatment with Na metal, B on treatment with aq.NaOH

produces D which answers iodoform test. Give the structures of A,B,C

and D and write the chemistry of reactions.

Watch Video Solution

C2H4Cl2

34. Find true and false statements among the followingand make

corrections to the wrong statements.
 a. Chlorobenzene on further

chlorination produces ' m' -dichlorobenzene
 b. 2 - Chlorobutane on

reaction with alcoholic KOH produces 1 -butene.
c. 1,1-Dichloroethane

https://dl.doubtnut.com/l/_1Bl5kv9zZlPg
https://dl.doubtnut.com/l/_HAsTj9JpOOkt
https://dl.doubtnut.com/l/_xhc3CzsTmIBM


on treatment with aq.NaOH produces acetaldehyde.
 d.

Trichloroacetaledehyde is also called chloritonte:

Watch Video Solution

35. Match the items of Column A,B,C 

'(##VPU_HSS_CHE_XII_C10_E03_006_Q01##)'

View Text Solution

36. Substantiate the following.
 a. The use of freon as refrigerant is

banned in several countries.

Watch Video Solution

37. Predict the major product of dehydrohalogenation of 4 - bromo -1

hexene.

https://dl.doubtnut.com/l/_xhc3CzsTmIBM
https://dl.doubtnut.com/l/_v8NDZg2ULE3R
https://dl.doubtnut.com/l/_L2ivHQTTcnu8
https://dl.doubtnut.com/l/_5jNTOt4mQXVc


Watch Video Solution

38. Out of the various possible isomer of containing a

benzene ring, suggest the structure with the weakest C-CI bond

Watch Video Solution

C7H7Cl

39. p-Dichlorobenzene has higher melting point than those of o- and

m -isomers Discuss.

Watch Video Solution

40. Haloarenes are insoluble in water but soluble in benzene.

Watch Video Solution

https://dl.doubtnut.com/l/_5jNTOt4mQXVc
https://dl.doubtnut.com/l/_1VY1KY6zawed
https://dl.doubtnut.com/l/_iFMGS2GCyela
https://dl.doubtnut.com/l/_k7c6ZsJLskmq


41. Explain why thionyl chloride method is preferred for preparing

alkyl chiorides from alcohols?

Watch Video Solution

42. Give one chemical test to distinguish between 

 and 

Watch Video Solution

C2H5Br C6H5Br

43. Arrange the following halides in the increasing order of 

reactivity? 

Watch Video Solution

SN 2

CH3Cl, CH3Br, CH3CH2Cl, (CH3)2CHCl.

https://dl.doubtnut.com/l/_Lba4kMzsFKwH
https://dl.doubtnut.com/l/_RKdl5PEQfNHZ
https://dl.doubtnut.com/l/_TAmFEtyWzgLy


44. Write the main product in the following reactions (a)

 (b)
 ,

Watch Video Solution

(CH3)2CH − Cl
Na

dryether CH3Br + AgF → Δ

45. What happens when chlorine is passed through boiling toluene

in the presence of suniight?

Watch Video Solution

46. What effect should the following resonance of vinyl chloride have

on its dipole moment

Watch Video Solution

https://dl.doubtnut.com/l/_F7598aw0fRTR
https://dl.doubtnut.com/l/_KKUPqd9xkhyz
https://dl.doubtnut.com/l/_wjI99Jnee44b


47. Arrange the following in order of their increasing reactivity in

nucleophilic substitution reactions:
 , , , 

Watch Video Solution

CH3F CH3I CH3Br CH3Cl

48. What is plane polarised light?

Watch Video Solution

49. What happens when iodoform is heated with silver powder?write

chemical reation?

Watch Video Solution

50. Under what conditions, 2-methyl propene can be converted into

isobutyl bromide by hydrogen bromide?

https://dl.doubtnut.com/l/_RYeSnCEOM9Sg
https://dl.doubtnut.com/l/_kngfBFGw5ZIi
https://dl.doubtnut.com/l/_D3XPMsqxa5FI
https://dl.doubtnut.com/l/_dfNn4dC3PA5x


Watch Video Solution

51. Which is a better nucleophile, a Bromide ion or an iodide ion?

Watch Video Solution

52. Give one example for Wurtz-Fittig reaction?

Watch Video Solution

53. Give the IUPAC and the trivial name of


?

Watch Video Solution

C6H6Cl6

https://dl.doubtnut.com/l/_dfNn4dC3PA5x
https://dl.doubtnut.com/l/_d9DuZ46d76Lc
https://dl.doubtnut.com/l/_0BCMYArHQWFr
https://dl.doubtnut.com/l/_lQybWI0oaNxJ


54. Arrange the following in increasing order of reactivity towards

sulphonation with fuming sulphuric acid: benzene, toluene,

methoxybenzene, chlorobenzene

Watch Video Solution

55. Give the structure of an optically active hydrocarbon ( )

which on catalytic hydrogenation gives an optically inactive

compound ( )

Watch Video Solution

C6H12

C6H14

56. W rite the reaction in which iodinine ion replaces the diazonium

group in a diazonium salt?

Watch Video Solution

https://dl.doubtnut.com/l/_wilscQfwYxwV
https://dl.doubtnut.com/l/_09dk6acVC1Pg
https://dl.doubtnut.com/l/_cLXkEKYrgOMp
https://dl.doubtnut.com/l/_DjPGbg1YzMre


57. Out of ethyl chloride and ethyl bromide, which has higher boiling

point. why?

Watch Video Solution

58. How is DDT prepared?

Watch Video Solution

59. Write balanced equations for the following (i) When chloroform is

oxidised by air(ii)chloroform reacts with chlorine

Watch Video Solution

60. In each of the following pairs of compounds, identify the

compound which will undergo SN1 reaction faster?

Watch Video Solution

https://dl.doubtnut.com/l/_DjPGbg1YzMre
https://dl.doubtnut.com/l/_Eu6VFKZEddQo
https://dl.doubtnut.com/l/_fA2xHstzzYLl
https://dl.doubtnut.com/l/_9wwlP1Js6QT3


Watch Video Solution

61. An organic compound (A) on analysis gives 24.24% C, 4,04 % H.

Further, sodium, extract. of 1 g of A gives '2.90 g' of AgCI with acidified

 solution. The compound (A) may be represented by
'( C)', (B)

an treatment with aqueous ' KOH' solution gives a dihydroxy

compound, while
(C) on similar treatment gives ethanal. Find out (A)

(B) and (C) :

Watch Video Solution

AgNO3

62. A white precipitate was formed slowly when  was added-

to a compound A with molecular formula . Compound ' A' on

treatment with hot alcoholic KOH gave a mixture of 2 isomeric

alkenes B and C having formula . The mixture of B and C on

ozonolysis furnished four compounds. (i)
  (ii) 

(iii) (iv)
 CH CHO. What are A, B and C.

W t h Vid S l ti

AgNO3

C6H13Cl

C6H12

CH3CHO C2H5CHO

CH3COCH3 CH3)2

https://dl.doubtnut.com/l/_9wwlP1Js6QT3
https://dl.doubtnut.com/l/_5v6zPkmZq1ex
https://dl.doubtnut.com/l/_JDU7pfUhNdW5


Watch Video Solution

63. The following compound gives two products

 . Write the structures of the

products.

Watch Video Solution

C6H5CH2CHClC6H5
_

alc. KOH

64. Optically active 2 - iodobutane on treatment with Nal in acetone

gives a product which does not show optical activity. Explain.

Watch Video Solution

65. Wurtz reaction fails in case of tert - alkyl halIdes. Explain?

Watch Video Solution

https://dl.doubtnut.com/l/_JDU7pfUhNdW5
https://dl.doubtnut.com/l/_kvQkHbD4Zf0t
https://dl.doubtnut.com/l/_xHOEsces8d9Q
https://dl.doubtnut.com/l/_K566XQhRFGwC


66. Explain why chlorination of n-butane in presence of light at 298 K

gives a mixture of 72 % 2-chlorobutane and 28 % of 1- chlorobutane.

Watch Video Solution

67. P - chloronitro benzene undergoes nucleophilic substitution

faster than chlorobezene. Explain

Watch Video Solution

68. When bromo benzene is monochlorinated, two Isomeric

compounds  and  are obtained. Monobromination of  gives

several isomeric products of molecular formula , while

monobromination of  yields only 2 isomers  and . Compound 

is identical with one of the compounds obtained from bromination

of , however is totally different from any of the isomeric

cómpounds obtained from the bromination of , Give structures of

A B A

C6H3CIBr2

B C D C

A D

A

https://dl.doubtnut.com/l/_O9XrApAN6KIB
https://dl.doubtnut.com/l/_gDxBBQ4mb9We
https://dl.doubtnut.com/l/_QOhgvJmIyyoh


 and  and also structures of four isomeric

monobrominated products of  Support your answer with

reasoning.

Watch Video Solution

A, B, C D

A

69. A hydrocarbon (A)was found to have vapour density 36.It forms

only single monochloro subsitution product. Suggest A.

Watch Video Solution

70. How will you distinguish 1- chloro-2-butene and 2-chloro-2-butene

Watch Video Solution

71. Toluene reacts with bromine in the presence of light to give

benzyl bromide while in presence of  ,it gives p-bromotolueneFeBr3

https://dl.doubtnut.com/l/_QOhgvJmIyyoh
https://dl.doubtnut.com/l/_cfY9YcXYO5d6
https://dl.doubtnut.com/l/_LWS9c3GaqX7W
https://dl.doubtnut.com/l/_a9XJaXIjuYVv


give explanation for the above observation.

Watch Video Solution

72. Among the following, the molecule with the highest dipole

moment is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

CH3Cl

CH2Cl2

CHCl3

CCl4

https://dl.doubtnut.com/l/_a9XJaXIjuYVv
https://dl.doubtnut.com/l/_FqLQyYaJX5XW


73. Among the following, the stongest nucleophile is : A)
 
B)


C)
 
D)


A. 

B. C_2 H_5 SH

C. C_2 H_5 SH

D. C_2 H_5 SH

Answer: A

Watch Video Solution

C2H5SH

CH3COO − CH3NH2 NCCH −
2

C2H5SH

74. Which of the following compounds has the highest boiling point

A. 

B. 

C. 

CH3CH2CH2Cl

CH3CH2CH2CH2Cl

CH3CH(CH3)CH2Cl

https://dl.doubtnut.com/l/_q2dlrEXvtliv
https://dl.doubtnut.com/l/_4eKseEvXXrP8


D. 

Answer: B

Watch Video Solution

(CH3)3CCl

75. Which of the following compounds is expected to be optically

active?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

(CH3)2CHCHO

CH3CH2CH2CHO

CH3CH2CHBrCHO

CH3CH2CBr2CHO

https://dl.doubtnut.com/l/_4eKseEvXXrP8
https://dl.doubtnut.com/l/_gIIkQxx2mmD6
https://dl.doubtnut.com/l/_3Z7JGrnsYWgO


76. Which one of the following is not the correct order of boiling

point of the alkyl/arylhalides

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

CHCl3 > CH2Cl2

CH3(CH2)3Cl > CH3(CH2)2Cl

(CH3)3CCl > (CH2)2CHCH2Cl

CH3(CH2)3Cl > CH3CH2CHClCH3

77. In a  substitution reaction of the type

 which one of the following has

the highest relative rate?

A. F

SN 2

R − Br + Cl− DMF
−−→ R − Cl + Br−

(A)(CH3)3 − C − CH2Br(B)CH3CH2Br(C)CH3 − CH2 − CH2Br

https://dl.doubtnut.com/l/_3Z7JGrnsYWgO
https://dl.doubtnut.com/l/_SDt4fZM36h2l


B. CH_3 CH_2 Br

C. CH_2 CH_2 CH_2 Br

D. F

Answer: B

Watch Video Solution

78. Nucleophilicity order is correctly represented by : (1)CH3- OH-≈F-

(3)CH3->NH2->HO->F-
(4)NH2->F->HO->CH3-
`

A. CH_3lt N overline H,lt HOlt F^-

B. C H_3 approx overline N H_2gtdot O H simeq F

C. C overline H_3^tgt N overline H_zgt O overline Hgt F^-

D. overline N dot H_2gt F^2gtoverline O Hgt C overline H_3

Answer: C

https://dl.doubtnut.com/l/_SDt4fZM36h2l
https://dl.doubtnut.com/l/_2SRe2gj8FMuL


Watch Video Solution

79. The organic chlorine compound which shows complete stereo

chemical inversion during a  reaction is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

SN 2

CH3Cl

(CH3CH2)2CHCl

(CH3)3CCl

(CH3)2CHCl

80. The order of reactivities of the following alkyl halides for a 

reaction is

SN 2

https://dl.doubtnut.com/l/_2SRe2gj8FMuL
https://dl.doubtnut.com/l/_prpBACxt189W
https://dl.doubtnut.com/l/_Ksh3obspoZya


A. R F>R Cl >R Br >R I

B. R F> R Br> R Cl> RI

C. RCl> R Br> RF> RI

D. RI> R Br> R Cl > RF

Answer: D

Watch Video Solution

81. Which of the following is correct order of decreasing 

reactivity

A. 

B. 

C. 

SN 2

R2CHX > R3CX > RCH2X

RCH2X > R3CX > R2CHX

RCH2X > R2CHX > R3CX

https://dl.doubtnut.com/l/_Ksh3obspoZya
https://dl.doubtnut.com/l/_OvyzrzsOPp8C


D.  


( X- halogen )

Answer: C

Watch Video Solution

R3CX > R2CHX > RCH2X

82. The  reactivity of the following halides will be in the order 

(i)  (ii)  (iii) ( iv)


( v) 

A. ( v)>( iv)> i)>( ii)>( iii)

B. (ii) > ( iii)>( v)>( ii)>( iv)

C. ( i)>(iii )>(v)>(i)> ( iv )

D. (v)>(i)>(i i)>(i v)>(i i i)

Answer:

h id l i

SN 2

(CH3)3CBr (C6H5)2CHBr (C6H5)2C(CH3)Br

(CH3)2CHBr C2H5Br

https://dl.doubtnut.com/l/_OvyzrzsOPp8C
https://dl.doubtnut.com/l/_PSUbdqT79zgT


Watch Video Solution

83. Which of the following shows  reaction most readily : 

A. F

B. F

C. F

D. F

Answer: B

View Text Solution

SN 2 FFFF

84. The reaction is described FIGURE

A. SE^2

B. SN'

https://dl.doubtnut.com/l/_PSUbdqT79zgT
https://dl.doubtnut.com/l/_P76p2Kjo3eIG
https://dl.doubtnut.com/l/_zSqPHSBVXXkH


C. SN^2

D. SN^circ

Answer: C

View Text Solution

85. The reactivity order of halides for dehydrohalogenation is

A. R-F>R-C l>R-B r>R-I

B. R- I>R-B r> R- Cl> R- F

C. R-I> R- Cl> R- Br> R- F

D. R- F> R- I> R- Br> R- Cl

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_zSqPHSBVXXkH
https://dl.doubtnut.com/l/_TwprihmCrkgq
https://dl.doubtnut.com/l/_zxQvgnakHUAb


86. Which of the following is least reactive in a nucleophilic

substitution reaction?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

(CH3)3C − Cl

CH2 = CHCl

CH3CH2Cl

CH2 = CHCH2Cl

87. Tertiary alkyl halides are practically inert to substitution by 

mechanism because of

A. insolubility

B. instablility

SN 2

https://dl.doubtnut.com/l/_zxQvgnakHUAb
https://dl.doubtnut.com/l/_Tx8LlWIkgeKZ


C. inductive effect

D. steric hinrance

Answer: D

Watch Video Solution

88. Which of the following is most reactive towards nucleophilic

substitution reaction?

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

CH2 = CHCl

C6H5Cl

CH3CH = CHCl

ClCH2CH = CH2

https://dl.doubtnut.com/l/_Tx8LlWIkgeKZ
https://dl.doubtnut.com/l/_6s0CmCZGnDMH


89. Which of the following undergoes nucleophilic substitution

exclusively by mechanism?

A. Ethyl chloride

B. Isopropyl chloride

C. Benzyl chloride

D. Chlorobenzene

Answer: C

Watch Video Solution

SN 2

90. In the following groups:  

( IV) the order of leaving group ability

is : 
 


−OAc(I), − OMe(II)

−OSO2Me(III) − OSO2CF3

I > II > III > IV IV > III > I. II III > II > I > IV

II > III > IV > I

https://dl.doubtnut.com/l/_6s0CmCZGnDMH
https://dl.doubtnut.com/l/_j546lW72MhiW
https://dl.doubtnut.com/l/_FC6DwKmDHE5f


A. IgtIIgtIIIgtIV

B. IVgtIIIgtI.II

C. IIIgtIIgtIgtIV

D. IIgtIIIgtIVgtI

Answer: B

Watch Video Solution

91.  The decreasing order of

the rate of the above reaction with nucleophiles  is


  :

,
 ,
 ,

A. DgtCgtAgtB

B. DgtCgtBgtA

CH3Br + Nu− → CH3 − Nu + Br−

(Nu− )A → D

(Nu = (A)pho − , (B)AcO(C)HO− (D)CH3O
−

D > C > A > B D > C > B > A A > B > C > D

B > D > C > A

https://dl.doubtnut.com/l/_FC6DwKmDHE5f
https://dl.doubtnut.com/l/_KXvTEKPyzBSY


C. AgtBgtCgtD

D. BgtDgtCgtA

Answer: B

Watch Video Solution

92. For the following (a)  (b)  (c)  the increasing order of

nucleophilicity would be

A. Br- < Cl- < I-

B. I- < Br- < Cl-

C. Cl- < Br- < I-

D. I- < Cl- < Br-

Answer: C

Watch Video Solution

I − Cl− Br−

https://dl.doubtnut.com/l/_KXvTEKPyzBSY
https://dl.doubtnut.com/l/_GCGiZbbeF0Gg


93. The addition of propene with HOCl proceeds via the addditon of

A.  in the 1st step

B. in the 1st step

C.  in the 1st step

D.  and  in a single step

Answer: B

Watch Video Solution

H +

Cl+

OH −

Cl+ OH −

94. In the presence of peroxide, hydrogen chloride and hydrogen

iodide do not give anti Markovnikov's addition to alkenen because :

both are highly ionic,
 one is oxidising and the other is reducing,
 one

of the steps is endotherrmic in both the cases,
 all the steps is

exothermic in both the reactions

https://dl.doubtnut.com/l/_GCGiZbbeF0Gg
https://dl.doubtnut.com/l/_L1gDxGGGBEG7
https://dl.doubtnut.com/l/_HX93zpov74MA


A. both are highly ionic

B. one is oxidising and the other is reducing

C. one of the steps is endotherrmic in both the cases

D. all the steps is exothermic in both the reactions

Answer: C

Watch Video Solution

95. The decreasing order of nucleophilicity among the nucleophiles is

(1) CH3CO(-)

(2) CH3O(-)

(3) CN(-)

(4) FIGURE

Watch Video Solution

https://dl.doubtnut.com/l/_HX93zpov74MA
https://dl.doubtnut.com/l/_Xgu7anTuNpYB


96. The major product formed in the following reaction

 react with aq, KOH is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

CH3CH(Cl)CH2CH2OH

CH3CH = CHCH2OH

CH2 := CH − CH2CH2OH

CH3 − CH2 − O − CH2 − CH3

CH3 − CH(OH) − CH2CH2OH

97. predict-the-product-c-obtained-in-the-following-reaction-of-1-

butyne CH3CH2 - C ≡ CH + HCl → B + HI → C

Watch Video Solution

https://dl.doubtnut.com/l/_YNNxY8BlMQSy
https://dl.doubtnut.com/l/_xkgY5rsVlItY
https://dl.doubtnut.com/l/_HHgADitVcD64


98. FIGURE

A. FIGURE

B. FIGURE

C. FIGURE

D. FIGURE

Answer: D

View Text Solution

99. The major product P in the following reaction is 'C H_(3)CH=CH_(2)'

react with peroxide /HI.

Watch Video Solution

https://dl.doubtnut.com/l/_HHgADitVcD64
https://dl.doubtnut.com/l/_zJ5XkqvdYEPA


100. The intermediate during the addition of HCl to propene in

presence of peroxide is : , ,

,
 ,

A. 

B. CH_3 C^+ H CH_3

C. CH_3 CH_2 . overlineC^H H_2

D. CH_3 CH_2 stackrelC H_2

Answer: B

Watch Video Solution

CH3CHCH2Cl CH3CH
+CH3

CH3CH2CH
.CH2 CH3CH2CH2

CH3CHCH2Cl

101. The most reactive nucleophile among the following is

A. 

B. 

CH3O
−

C6H5O
−

https://dl.doubtnut.com/l/_HMlnqK8Rt3O5
https://dl.doubtnut.com/l/_3wUe5s0Sw9AT


C. 

D. 

Answer: A

Watch Video Solution

(CH3)2CHO−

(CH3)3CO
−

102. The major product obtained on treatment of

 with 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

CH3CH2CH(F )CH3
CH3O

−

CH3OH

CH3CH2CH(OCH3)CH2

CH3CH = CHCH3

CH3CH2CH = CH2

CH2CH2CH2CH2OCH3

https://dl.doubtnut.com/l/_3wUe5s0Sw9AT
https://dl.doubtnut.com/l/_rFVXB7vuQCZc


103. HBr reacts with  under anhydrous

conditions at room temperature to give

A.  and 

B.  and 

C. 

D. 

Answer: D

Watch Video Solution

CH2 = CH − OCH3

CH3CHO CH3Br

BrCH2CHO CH3OH

BrCH2CH2OCH3

CH3CHBrOCH3

https://dl.doubtnut.com/l/_rFVXB7vuQCZc
https://dl.doubtnut.com/l/_9Y4l8Ru3UQhO


104. The correct set of reagents for the following conversion is,

A. alcoholic KOH

B. alcoholic KOH followed by NaNH_2

C. aqueous KOH followed by NaNH_2

D. Zn/ CH_3 OH

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_fIrbDN7BHKSZ


105. which of the following sequence of reactions(reagents) can be

used for conversion of  into  ?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

C6H5CH2CH3 C6H5CH = CH2

SOCl2, H2O

SO2Cl2, alc. KOH

Cl2hv, H2O

SOCl2, alc. KOH.

106. Identify the set ofreagent/reaction conditions X and Y, in the

following set of transformations. 

CH3 − CH2 − CH2Br
X

−−→ Product
Y

−−→ CH3 − C
∣

Br

H − CH3

https://dl.doubtnut.com/l/_MawLLTOaMMup
https://dl.doubtnut.com/l/_8IBSy2IlADuG


A. X - dil aqueous NaOH 20^circ C
Y-H dotB r^prime / acetic acid ,

20^circ C

B. 

X - Conc.alcoholic NaOH, 80^circ C


Y-H B r / acetic acid , 20^circ C

C. 

X - dil,aqueous NaOH .20^circ C


Y dot Br_2 / CHCl_3^4 O^circ C

D. 

X- Conc. alcoholic. NaOH, 80^circ C


Y-Br_2 / CHCl_y, O^circ C

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_8IBSy2IlADuG
https://dl.doubtnut.com/l/_C7zT39BBIxMz


107. An alkyl bromide produces a single alkene when it reacts with

sodium ethoxide and ethanol. This alkene on hydrogenation

produces 2-methyl butane. What is the identity of the alkyl halide?

A. 1- Bromo-2,2-dimethyl propane

B. 1-Bromo butane

C. 1-Bromo -2-methyl butane

D. 2-Bromo-2-methyl butane

Answer: C

Watch Video Solution

108. Ethyl chloride on treatment with AgCN forms a compound X. The

functional isomer of X is

A. 

B. 

C2H5NC

C2H5NH2

https://dl.doubtnut.com/l/_C7zT39BBIxMz
https://dl.doubtnut.com/l/_SwZ0GOKMfzHn


C. 

D. none of these

Answer: C

Watch Video Solution

C2H5CN

109. The addition of HBr is easiest with

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

CH2 = CHCl

ClCH = CH2Cl

CH3CH = CH2

(CH3)2C = CH2

https://dl.doubtnut.com/l/_SwZ0GOKMfzHn
https://dl.doubtnut.com/l/_OGtbZQRy5eUQ
https://dl.doubtnut.com/l/_guZZ8BQ20hzA


110. The correct increasing order of reactivity of halides for SN'

reaction is :

,

,

,

,

A. 

/l
 CH_3 CH_2 Xlt(CH_3)_underline2 CH, X_1ltCH_2=CH C_i, XltPl

CH_2 X


B. 

/l
(CH_3)_2 CH xx CH_3 CH_2, XltCH_2=CH CH_2 XltPh CH_2 X


C. 

/l
Ph CH_2 Xlt(CH_3), CHXltCH_3 CH_2 Xlt CH_2=CH CH, X


D. 

CH_2=CH,-CH, X leqslant P^circ CH_2 X:CH_2 CH.


CH3CH2X < (CH3)2
–
CHX < CH2 = CHCH2X < PhCH2X

(CH3)2CHX < CH3CH2X < CH2 = CHCH2X < PhCH2X

PhCH2X < (CH3)2CHX < CH3CH2X < CH2 = CHCH2X

CH2 = CH − CHX < PhCH2X < (CH3)2CHX < CH3CH2X

https://dl.doubtnut.com/l/_guZZ8BQ20hzA


XltC_: H_3 CH_a X

Answer: A

Watch Video Solution

111. The reaction of toluene with  in presence of  gives

predominantly

A. m- Chlorotoluene

B. benzoyl chloride

C. Benzyl chloride

D. o-andp-chlorotoluene

Answer: D

Watch Video Solution

Cl2 FeCl3

https://dl.doubtnut.com/l/_guZZ8BQ20hzA
https://dl.doubtnut.com/l/_vGkCm358CMz7
https://dl.doubtnut.com/l/_EuWzeVV6FDKn


112. An alkyl halide by formation of its Grignard reagent and heating

with water yield propane. What is the original alkyl halide.

A. methyl iodide

B. ethyl iodide

C. ethyl iodide

D. propyl bromide

Answer: D

Watch Video Solution

113. Alkyl halides are less soluble in water because

A. They ionise in water

B. They do not form H bonds with 

C. They are highly viscous

H2O

https://dl.doubtnut.com/l/_EuWzeVV6FDKn
https://dl.doubtnut.com/l/_0e4OX8vdLtVk


D. They have very strong C-X bond

Answer: B

Watch Video Solution

114. Chlorination of toluene in presence of light and heat followed by

treatment with aqueous NaOH gives

A. o-cresol

B. p-cresol

C. mixture of o-cresol and p-cresol

D. benzonic acid

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_0e4OX8vdLtVk
https://dl.doubtnut.com/l/_epZG96MH60VO
https://dl.doubtnut.com/l/_Tg0nKqHogKrg


115. Catalyst used in the preparation of alkyl chlorides by the action

of dry HCl on an alcohol is

A. anhydrous 

B. 

C. anhydrous

D. Cu

Answer: C

Watch Video Solution

AlCl3

FeCl3

ZnCl2

116.  on reaction with  produces

A. 

B. 

C. 

(CH3)3CMgBr D2O

(CH3)3CD

(CH3)3COD

(CD3)3CD

https://dl.doubtnut.com/l/_Tg0nKqHogKrg
https://dl.doubtnut.com/l/_okBoOq3vzRoC


D. 

Answer: A

Watch Video Solution

(CD3)3OD

117. Silver salt of a fatty acid on refluxing with an alkyl halide gives an

A. acid

B. ester

C. ether

D. amine

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_okBoOq3vzRoC
https://dl.doubtnut.com/l/_xedvX4Hv67uT


118. FIGURE The compound A is

A. F

B. F

C. F

D. F

Answer: A

View Text Solution

119. The compound Q is

A. bromobenzene

B. chlorobenzene

C. benzyl bromide

https://dl.doubtnut.com/l/_XvlVPmhXL3cP
https://dl.doubtnut.com/l/_xRBl6UpYq4kF


D. benzyl chloride

Answer: A

Watch Video Solution

120. The structure of the major product formed in the following

reaction is: 

A. F

B. F

C. F

D. F

https://dl.doubtnut.com/l/_xRBl6UpYq4kF
https://dl.doubtnut.com/l/_BWhT17YxV0LC


Answer: D

Watch Video Solution

121. Consider the folllowing compounds (i) CHCl_3 (ii) CCl_4 (iii) CH_2

C I_2 (iv) CH_3 Cl (v)CH4 The compounds with a net zero dipole

moment are

A. (ii)and (V) only

B. (ii)only

C. (iii)and (iv) only

D. (i) and (iv)only

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_BWhT17YxV0LC
https://dl.doubtnut.com/l/_6Bub1hHXcVBW


122. The raw materials for the commercial manufacture of DDT are

A. chlorobenzene and chloroform

B. chlorobenzene and chloromethane

C. chlorobenzene and chloral

D. Chlorobenzene and iodoform

Answer: C

Watch Video Solution

123. Two bottles containing  and  lost their

original labels.They were labelled as A and B for testing A and B were

separately taken in test tubes and boiled with Na OH solution. The

solution in each tube was made acidic with dilute  and some

 solution was added .Substance B gave a yellow precipitate.

Which of the following statements is true for this experiment :

C6H5I C6H5CH2I

HNO3

AgNO3

https://dl.doubtnut.com/l/_eG9vNjGZWxRX
https://dl.doubtnut.com/l/_8AwWg5TAnsyy


Addition of  was unnecessary,
A was ,
A was ,

B was 

A. Addition of HNO_3 was unnecessary

B. A was C_6 H_5 I

C. A was C_6 H_9 CH_2 I

D. B was C_6 H_s I

Answer: B

Watch Video Solution

HNO3 C6H5I C6H5CH2I

C6H5I

124. The substance added to chloroform for preventing the

formation of phosgene is

A. 

B. 

C. 

CH3COCH3

C2H5OH

CH3COOH

https://dl.doubtnut.com/l/_8AwWg5TAnsyy
https://dl.doubtnut.com/l/_DZXPNKSpWCnW


D. 

Answer: B

Watch Video Solution

CH3OH

125. Fluorobenzene  can be synthesised in the laboratory

A. by heating phenol with HF and KF

B. from aniline by diazotisation follwed by heating the diazonium

salt with 

C. by direct fluorination of benzene with  gas

D. by reacting bromobenzene with NaF solution

Answer:

Watch Video Solution

C6H5F

HBF4

F2

https://dl.doubtnut.com/l/_DZXPNKSpWCnW
https://dl.doubtnut.com/l/_ZFNXGS2gUDzW
https://dl.doubtnut.com/l/_EJg7Jh22ork8


126. In chlorination of benzene, the reactive species is

A. 

B. Cl-

C. 

D. 

Answer: A

Watch Video Solution

Cl+

Cl2

Cl−
2

127. When primary amine reacts with chloroform in ethanolic KOH the

product is

A. an isocyanide

B. an aldehyde

C. a cyanide

https://dl.doubtnut.com/l/_EJg7Jh22ork8
https://dl.doubtnut.com/l/_xsDv0ifrcvGS


D. an alcohol

Answer: A

Watch Video Solution

128. Which of the following is responsible for depletion of the ozone

layer in the upper strata of the atmosphere

A. ferrocene

B. fullerenes

C. freons

D. polyhalogens

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_xsDv0ifrcvGS
https://dl.doubtnut.com/l/_VXchdjjc2d7Q
https://dl.doubtnut.com/l/_eingmrMSKYM4


129. In the addition of HBr to propene in the absence of peroxides,

the 1st step involves the addition of

A. 

B. 

C. 

D. Br

Answer: A

Watch Video Solution

H +

Br−

H ⋅

130. (X) on treatment with sodium hydroxide followed bythe addition

of silver nitrate gives white precipitate at room temperature which is

soluble in . (X) can be:

A. chlorobenzene

B. vinyl chloride

NH4OH

https://dl.doubtnut.com/l/_eingmrMSKYM4
https://dl.doubtnut.com/l/_kY4upZ9lk1xx


C. ethyl bromide

D. benzyl chloride

Answer: D

Watch Video Solution

131. Alkyl halides is converted into an alcohol by

A. Addition

B. substitution

C. dehydrohalogenation

D. elimination

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_kY4upZ9lk1xx
https://dl.doubtnut.com/l/_FLFI5Niie8dO
https://dl.doubtnut.com/l/_0ZEGnYgDTq6H


132.  mechanism proceeds through the intervention of

A. carbocation

B. transition state

C. free radical

D. carbanion

Answer: B

Watch Video Solution

SN2

133. Geometrical isomerism is shown by

A. 

B. 

C. 

D. 

CH2 = C(Br)I

CH3CH = C(Br)I

(CH3)2C = C(Cl)Br

CH3CH = CCl2

https://dl.doubtnut.com/l/_0ZEGnYgDTq6H
https://dl.doubtnut.com/l/_V8n3tykHTMYO


Answer: B

Watch Video Solution

134. Which of the following reactions is most suitable for the

preparation of n-propyl benezene. : Friedel-crafts reaction,
 Wurtz

reaction,
Wurtz - Fittig reaction,
Grignard reaction

A. Friedel-crafts reaction

B. Wurtz reaction

C. Wurtz - Fittig reaction

D. Grignard reaction

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_V8n3tykHTMYO
https://dl.doubtnut.com/l/_fK5GrpN1CZtY


135. Allyl chloride on dehydrochlorination gives

A. propadiene

B. propylene

C. allyalcohol

D. acetone

Answer: A

Watch Video Solution

136. Chloropicrin is obtained by the reaction of

A. nitric acid on chlorobenzene

B. chlorine on picric acid

C. nitric acid on chloroform

https://dl.doubtnut.com/l/_Kl8mGO8AxHiD
https://dl.doubtnut.com/l/_eZJk9v0rrHxJ


D. steam on carbon tetrachloride

Answer: C

Watch Video Solution

137. What is the major product of the following reaction?

 + 1moleof 

A. F

B. F

C. F

D. F

Answer: D

Watch Video Solution

CH3C ≡ C − CH2CH3 Cl2 →

https://dl.doubtnut.com/l/_eZJk9v0rrHxJ
https://dl.doubtnut.com/l/_7CgAiy2x2Xd1
https://dl.doubtnut.com/l/_cXovBPTe6QCC


138.  light is an example of

A. substitution

B. elimination

C. addition

D. rearrangement reaction

Answer: A

Watch Video Solution

C3H8 + Cl2 C3H7Cl + HCl

139. When hydrochloric acid gas is treated with propene in presence

of benzoyl peroxide, it gives

A. 2-chloropropane

B. allyl chloride

C. no reaction

https://dl.doubtnut.com/l/_cXovBPTe6QCC
https://dl.doubtnut.com/l/_6gsCmvQNmzau


D. n-propyl chloride

Answer: A

Watch Video Solution

140. In the reaction of p- chlorotoluene with  in liq  , the

major product is

A. o-toluidine

B. m-toluidine

C. p-toluidine

D. p-chloroaniline

Answer: B

Watch Video Solution

KNH2 NH3

https://dl.doubtnut.com/l/_6gsCmvQNmzau
https://dl.doubtnut.com/l/_44TBSsUC3gHN
https://dl.doubtnut.com/l/_L3bwRV5sAFOm


141. An  reaction at an asymmetric carbon of a compound always

gives

A. an enantiomer of the substance

B. a product with opposite optical rotation

C. a mixture of diasteromers

D. a single stereoismer

Answer: D

Watch Video Solution

SN2

142. Alkyl halides react with metallic sodium in dry ether producing

A. alkanes with same number of carbon atoms

B. alkanes with double the number of carbon atoms

C. alkanes with triple number of carbon atoms

https://dl.doubtnut.com/l/_L3bwRV5sAFOm
https://dl.doubtnut.com/l/_IujpsO9XjWEi


D. alkenes with double the number of carbon atoms

Answer: B

Watch Video Solution

143. If one H is replaced by a Cl atom in , the total number of

structural isomers will be
4
5
7
10

A. 4

B. 5

C. 7

D. 10

Answer: D

Watch Video Solution

C4H9Cl

https://dl.doubtnut.com/l/_IujpsO9XjWEi
https://dl.doubtnut.com/l/_vnjOTQcm9nCF
https://dl.doubtnut.com/l/_wAyWnPGWhcfh


144. The number of stereoisomers obtained by bromination of trans-

2 - butene is

A. 1

B. 2

C. 3

D. 4

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_wAyWnPGWhcfh

